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IV' CAREERINDIA

POPULATION STUDIES

PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Read the following passage and answer the
questions given below : (1 — 6)

Nature cannot be understood as a
commodity, a resource; it can only be
understood in romance. ‘Cities give not the
human senses room enough.” Richer
aesthetic experiences are possible in forest
and field-more to see, smell, touch, taste,
more sense of space, time, place proportion.
‘In wilderness is the preservation of the
world.” Nature yields; Commodity; Beauty;
Language; and Discipline. The Planet’s
endless circulations give us sustenance, life,
life-support and prosperity. Nobler wants
are served by the beauties of wood and sky.
There is the necessity of being beautiful
under which every landscape lies. Such
beauty is reciprocal and ancillary to human
character and intellectual life.

Human life and society are, ought to
be lived in continuity with ‘nature’. We
should not look for the meaning of life in
technological advances — hoping using
electromagnetism to grow sozads quickly.
Such accomplishment will never replace
living out our three score and ten years
with roots in the soil, enjoying the seasons,
spring salads included.

Homosapiens is a microcosm, an
epitome of compendium of nature, in
whom nature comes to completion. Natural
phenomena have their glory unrealized,
until humans wake up to this, and this is a
principal destiny of mankind. Emerson
concludes his brooding over nature in the
philosophical idealism that underlies all his
thought : ‘Nature is the incarnation of a
thought.....the world is mind precipitated.’
But it takes long to see this.

1.  To understand Nature, one has to be :
(A) Passionate
(B) Energetic
(C) Explorative
(D) Enthusiastic
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2.

Man-Environment relationship is

best expressed in :

(A) Technological advances

(B) Exploitation and use of natural-
resources

(C) Exploring the ‘unknown’ in
nature

(D) Living in continuity with nature

Man-Nature interaction is reflected

through :
(A) livelihood opportunities
provided by Nature

(B) Resource — use by the society
(C) Aesthetic experiences
(D) None of the above

Nature is understood as :

(A) Commodity to be used

(B) Resource to be exploited

(C) Incarnation of a thought

(D) A gift of God

The paragraph highlights the

(A) Economic value of Environment
(B) Abundance of Natural Resources
(C) Power of the beauty of Nature
(D) Nature as a life-support system

The tone of the passage is
(A) Analytical
(B) Descriptive
(C) Prescriptive
(D) Philosophical
Match List — I with List — 1I
according to the column of Gross
Nuptiality Table :

List -1 List — I1
a. Probability of Marriage i. S

X
b. Number of Marrying  ii. NM,
at age x

c. Never Married at age x iii. M,

d. Person years lived in iv. n,
Never Married State
Codes :
a b C d
(A) iv i miooi
B) iv i il i
© 1 i iv i
D i i i iv
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AT: T I H qEEeR (75) Sg-fashedd N § | Neish U Al (2) ik e | |t v e €

91 TTerter @t UgeR A 53 weA (1 - 6) F
I for@ |

TSI I, THTEH % T H A&l qHe
ST Hehel & 39 haet AT H T ST Fehell
T | TR A HaAreT T qaT I el
AT 1 T HSIIe IS A1 a7 Wl H &
g € — SRl 9%, EH, WY HE, I8 5
T SoeT ¥, ST, WHA AT T ST Hh
ST Y USH AT € | dieg H ST w6
TR BT & | WSl o], GRLel, | 3%
SR St € | UT % SR URGHHUT g
T | FolF SMATIRAY HIG FAT SR H
=g % FN G OBl § | gRL B W
JMATIHA &, SHF S U -3
fog & 1 Td g=Iar AFg 9Ra 9o Sife®
St o Ui S Te URENE Bl § |

A Sfeq SR ST St TP & qre
freatar § & =iRT | ey
YA FA GU oS G HISTE ST R M
F BT - Wt S=iqal § gd Sfe 1 31
TE @IS weT | UE SueleEl, gAN
HIT 3T 3@ it 1 et § STei % | W gu
A AT e O |

FRTETE Y SRS ¥, UHd & 9N
WWW%WWWWW
& | UTHiae URGRS w1 ST TR & 5 ST
TH T TG Uid ST &l @l S § dd d6
0 39T &l foRar ST e, 3R g e
H UgH AT € | TREE T WP WSOt
T & (opd SIS Teeias § e s
fop ST oft @ | eidfem o wpla g
FHIETE ... ST sraeifud afess €,
TR T€ 3T H AT JHF AT E |

1. va & TmH & fou At @
fr=ferfea o @ =1 gar Tgar & 9
(A)  wreserT
(B) Swill
(C) F=mvig
(D) 3TN AT IR
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2.

THE-IaTeR0T Ty fFetarad J e
AT e BT © 2

(A) YT 3Hd

(B) WThicish THTEFT ST IHOOT AT SUFRT
(C) Upd | 3T i TN

(D) =R=d UHd & AT T

TGP iihar H=fefad & A
@W%ﬁ?‘ﬁ%‘

(A) TP FRT IS ST o T
(B) S gRT TATEH 3UFRT

(C) HiIRE SFa

(D) Wﬁﬁaﬁéaﬁ

Teh{d & TR H T 9§ 2

(A) TN HH B T E |
(B) &M o & ford Tamm € |
(C) WEfERHFTAIETL |
(D) W9 H SERE |

I=T ISR L &

(A) TATEITT % 3T G i

(B) WTehicish TaTERT bl TRl i

(C) Wpid % Higd VKT

(D) STEH-3MYR el & ¥ § Fhid 5

IR=T T 9T
(A) fowooomersE 1(B)  foeRomeTs & |
(C) TEsmAs & | (D) SRS |

TeheT AaTteshl TR0 o TR & 3TAR

T — I & gt — II@FW@WEI%
=i - 1 et - 11

a. foaTe = gwegar i S,

b. 3% x W fo@E 2= areft il NM,
= G

c. 3 x W HH foerfed F&l il M,

d. w7 foenfed =&t & f=fa iv. n,
H 78 7 foree

a b c
(A) iv 1 il il
(B) iv i il i
(C) i i ivod
D) i i i v
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10.

11.

12.

13.

14.

15.

Which among the following is a
Cohort rate in Population studies ?
(A) Crude Birth rate

(B) Crude Death rate

(C) Age specific Mortality rate

(D) None of the above

When the World Health Organization
(WHOQO) officially declared India a
Polio Free Country ?

(A) May 2013 (B) March 2014
(C) April2005 (D) July 1987

According to the Special Bulletin of
the Sample Registration System in
India 2010-12 among the following
states which one is having highest
Maternal Mortality Rate ?

(A) Andhra Pradesh

(B) Assam

(C) Bihar and Jharkhand

(D) Rajasthan

According to the National Family
Health Survey (NFHS)-III Report
around what percentage of children
age 6-59 months were anaemic ?

(A) 40 B) 50

(C) 60 (D) 70

The unit for presenting of Maternal
Mortality Rate is expressed in which
of the following ?

(A) Percentage live births

(B) Per thousand live births

(C) Per ten thousand live births

(D) Per one lac live births

The Reproductive and Child Health
Programme Phase one was in which
among the following categories ?

(A) October 1997 (B) March 2003
(C) March 2005 (D) April 2005

What is the main thrust of Caldwell’s
Wealth flow theory in the field of

fertility ?
(A) Wealth flow from parents to
children

(B) Wealth flow from children to family

(C) Wealth flow from local
government to family

(D) Wealth flow from public to
government

What are the bottlenecks hampering

delivery of health services ?

(i) Awvailability of human and
material resources

(i1)) Physical Accessibility and demand

(ii1) Continuity and quality of health
services

Codes : o

A G B Q)G

(©) (i), (ii1) (D) @), (i), (i)
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16.

17.

18.

19.

20.

IV' CAREERINDIA

During which among the following
periods, Maternal and Child Health
Services were integrated with Family
Planning Programmes in India ?

(A) Mid Sixties

(B) Mid Seventies

(C) Mid Eighties

(D) Mid Nineties

What were the Bamako Initiatives ?
(i) Targeting disease burden

(i) Geographical targeting

(iii) Providing Cross-subsidies

(iv) Exempting Widows and Orphans
Codes :

A) (), (1)

(B) (i), (iv)

©) (@), (i), (iii)

(D) (@), (), (1id), (iv)

Assertion (A) Non-Government

Organizations perform well in
certain situations.

Reason (R) Non-Government
Organizations  have  better
infrastructure.

Codes :

(A) (A)is true, (R) is true and (R) is
the correct explanation of (A).

(B) (A)is true, (R) is true but (R) is
not correct explanation of (A).

(C) (A) true and (R) is false.

(D) (A)is false and (R) is true.

An Indian, who conducted the U.N.
Mysore Population study

(A) Mahalanobis

(B) K.C.K.E.Raja

(C) C. Chandrasekaran

(D) W.M. Yates

Sampling biases arise due to :
(1)  Faulty selection of sample
(i)  Substitution
(iii)) Faulty demarcation of units
Codes :
(A) (1) only
(B) (1), (ii) only
(©) (i), (iii) only
D) (@), (i), (i1)
J-15-14



8.

10.

11.

12.

13.

14.

15.

SHEET A W Pl (e I
frfafaa d F SR A e 2

©

(D) Wﬁﬁaﬁéaﬁ

fover w@mea Gmed (WHO) 3 9Ra &t
eIy T ¥ WieE Jod I9 Ha
onfeer fepam ar 2

(A) TE2013 (B) ™ 2014
(C) 3Wa 2005 (D) S[oTE 1987

IRd H T OSEE U % (e
@ﬁﬁqzolo 12 & 3R He=farad §
T fohe T W A1 Gog ST STEaH € 9
(A) 3T USY (B) e @H

(C) SRR a IREs (D) o=

WW%@IH&@W@W)
111 % RO &% AR, 6-59 Alel &l 39
% Seal H fRdAT U TRSTeddr ar
T O U § 2
(A) 40 (B) 50
(C) 60 (D) 70

A g I R U HA B TR
feferiga & 9 forg 0 oo &l ST € 2
(A) Siferd S = ol Uawrd
(B) Wi &R it S
(C) Ud 3T IR Sfiferd 5=
(D) Ud U &g Sfiferad S=F

U 1 o] @ed HE%H ol
=0T — | Frefetiad o 9 foog ant & o1 2
(A) 3JTRIX 1997 (B) o 2003
(C) 9™ 2005 (D) W 2005

TSHETAT % &1 H hloesdel & gHgT
TaTE Fogi o1 qied T (31 SR 0 € 9
(A) TTAL-Tudr | Seai S TR YA
(B) =di ¥ URER %I TSI YaTE
(C) TIFE WHER T IRAR ol TIET Halle

(D) ST 9 THR Hl T UG8

@ garel & gUeT HoarEn e
areft STa HME 2

()  AFEE qe Hifdes SHEAT ol STetedr
(i) e =T qer 9T

%% T YAT3T St TR T Torer

(&) G) (B) (). (i)
(C) (1), (ii1) D) @), (1), (111)
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16.

17.

18.

19.

20.
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fr=fafad & 9 59 oo & RE 9Ra
T A1g TF Tt W@ Gat uRaR e
HTAHH & AT T Bl TS of 2

(A) 9T F 3T & T

(B) W & I & A

(C) o7 & 3 & 7

(D) = % T3 & T

ST WA T & 9

(i) T F UR B AT BT

(i) T 18 sheT

(i) Wf-3nfoTer TeTar USH AT

(iv) formenatt qer et B g2 3

Ay

(A) (@), (i)

(B) (i), (iv)

©) (), (1), (i)

(D) (), (1), (111), (iv)

AT (A) . RWHR T FS
ferfaal o st o wa € |

HROT (R) : TR-GIHRI-GTSAT T AT
ZraT JEeR BT & |

B

(A) (A) ¥4 ¢, (R) ¥4 ¢ 3R (R),
(A) o TE AT E |

(B) (A) ¥, (R) ¥ & W (R),
(A) & TE AT T E |

(C) (A) TFE 3T (R) ITTE |

(D) (A) ITFE I (R) T E |

JUA, TR STAEET AT HA ATl
TRAT &

(A) WETHIEH  (B) SHEIEHE IS
(C) ¥t o=s¥ERT (D) T=Y.Ud. AH

wiaeee qEmE HEfefiad R 9 S

[SoRSE

()  TUet (=T = Terd aa=

(i) wfoemE

(iii) TPIEAT T ToTd GrHTHT

B

(A) T (i) (B) T8 (i), (ii)

© %@, di) D) (), (i), (i)
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21.

22,

23.

Match List — I with List — 11 :

List -1 List - 11
a. Conventi- i. IMR=
onal IMR /M, A-f)D,
B, © B,
x 1000
b. Numerator ii. IMR=
adjusted Dg + D123
IMR B x 1000
2
c. Denominat- iii. IMR =
or adjusted S
IMR [1 _[By-Dj
B,
P
B,-D; -D,
B, -Dj
x 1000
d. In a yeariv. IMR=
three year D,
data fBi+(1 +f)B,
probability
between
birth  and
exact age
are during
year 2.
Codes :

a b c d
(A 1 i iv il
B i i v
<O i i i v
) 1 i iv i
‘Fertility varies inversely with
density of population.” Who said
this ?
(A) Saddler
(C) Dumonte

(B) Spencer
(D) Bongarts

Which one of the following is a non-
economic value of children ?

(A) Marginal Utility

(B) Consumption Utility

(C) Work Income Utility

(D) Social Utility

Paper-111

24.

25.

26.

27.

28.

29.

30.
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What are the factors that contribute
in economic growth ?
(i) Life expectancy
(ii)) Contribution of working age

population
(iii) Contribution of urban population
Codes :
A) @) B) (@)

(©) (), (1) D) @, (i), (i)
Which Census, question on work
participation of women = was
expanded to include unpaid work in
the family firm or family enterprise ?
(A) 1981 B) 1971

(C) 2001 (D) 1991

According to Potter (1972), on an
average, how many births are averted
with one (1) induced abortion
followed by no contraceptive use by

couples ?
A 1 B) 0.9
© 04 (D) 0.7

In which year, Port Enumeration
Check was introduced in the Indian
Census ?

(A) 1941 B) 1951

<©) 1921 (D) 1961

In which year, the Sample Registration
System was initiated in India ?

(A) 1947 -48 (B) 1960 -61
(C) 1952-53 (D) 1963 - 64

In which year, responsibility of vital
statistics was entrusted to the
Registrar General of India ?

(A) 1947 (B) 1951

(C) 1960 (D) 1971

Which of the following mathematical
method of projecting sub-national
population is same as the method
used by the Registrar General of
India (1987) to project district level
population in India ?

(A) Apportionment Method

(B) Regression Method

(C) Ratio Method

(D) None of the above

J-15-14



21.

22,

23.

Tt — 1 et — [1 % | gafed L
S| = - 11
a. TER®  i. IMR=
LTI, /D, (1-f)D,
B, T B,
x 1000

+

IMR =
D5+ DY
IMR B,

c. & HEEINA iii. IMR =
IMR [1 ] [Bz S
B2
[Bl -Dj -D}
B,-DS

b. W ii.

x 1000

x 1000

T, iv. IMR =
ag 2 F D,
&

e /B, +( +f)B,
x 1000

(A) it i v il

B) i il il iv

©) i i il v

(D) iiooiv i

ST UTqeAlid ®7 9 SEE &
T & {1 qRaidd el & ° I8 e
FET & 9

(A) @'5'5711 (B) @W

(C) i (D) smeE

Fedi A IANIE qod Afeed § 9
FE?

(A) IHT SR

(B) SUMIT SUARTAT

(C) o1& ¥ U 37T i STATAT
(D) WM SUAHTAT

e

J-15-14

24.

25.

26.

27.

28.

29.

30.

e fhg o0 § 9RA % TeRMRR
= G 7T off 2

&AREEHINHIA

3N gfg H B ¥ HRF AR I & 2
()  STee e

(i) AR IH Bl STTHET FH AR
(ili) TRIT SFEET T FEE

HE

@A) ()
©) (i), (iii)

(B) (i)
D) (@), (i), (i)

R ®H a1 TS 389 H 3
HE H GHEOE KA & [0 (&7 ot
HE FEITAT W U9 &l T ST o
IEISEGRERIRIE R,

(A) 1981 (B) 1971
(C) 2001 (D) 1991

TEeX (1972) % SFER, A g
fordlt M FRTereR ST IUANT 7 SR g U

(1) URa ™I % WY fhad g @5

S AT A ST & 2

(A) 1
(C) 04

B) 09
(D) 0.7

TRAT ST0FT §RT S0 SR S

fohe o H GURE &l T o 2

(A) 1941 (B) 1951
(© 1921 (D) 1961

IR | AT USIES Ugia o g ad o

URWT {3 T3 2

(A) 1947-48  (B)
(C) 1952-53 (D)

(@ s)

1960 - 61
1963 — 64

(A) 1947 B) 1951
(©) 1960 (D) 1971

ST SHEET wetd A @
frfetiaa niordis gfaat & 9 & 9
Tl 2, ST foh Ra /TSl T SaeE
1 HEIT T & o1 IS TR R

(1987) BRI SUANT ! TE of ?
(A) e gl

(B) wfasraor ugfa

(C) U Usia
(D) S | I T
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31.

32.

33.

34.

3s.

Which of the following rates provides
an estimate of replacement in the
hypothetical cohort, given mortality
levels taken from current life table ?

(A) GRR
(B) TFR
(C) NRR

(D) None of the above

Who used the term ‘Demography’
first in a scientific way ?

(A) Guillard
(C) Ryder

(B) Spengler
(D) Moore

According to Prof. Bogue, the rapid
decline in mortality being witnessed in
most of the developing countries was
due to fall in which group of diseases ?

(A) Death from violence
(B) Cancer

(C) Infection, parasitic and
respiratory diseases

(D) Diseases of circulatory system

The 2001 Census do not provide
which of the following information
on migration ?

(A) Duration of stay at last residence
(B) Birth place

(C) Place of last residence

(D) Reason for migration

As per the 2001 Census, which are
the top three states, in terms of inter
state inmigration by last residence ?

(A) U.P., Bihar and Kerala

(B) U.P., Rajasthan and Madhya
Pradesh

(C) Bihar, Madhya Pradesh and
Kerala

(D) U.P., Bihar and Rajasthan

Paper-111

36.

37.

38.

Match the following :
List -1
(Based on 2001
Census)
a. State/UT with

IV' CAREERINDIA

List - II

i.  Manipur

highest No. of Urban

Agglomerations

b. State/UT with ii. Tripura
highest No. of Town

c. State/UT with iii. Madhya
lowest No. of Urban Pradesh
Agglomerations

d. State/UT with iv. Tamil
lowest No. of Towns Nadu

Codes :

a b c d

(A) i1 ivoil i

B) i iv i il

© 1 i ivo il

(D) i il i v

Match the following :
List - I List - 1I

(Population  (Propounded

Theory) by)

a. Law of i.  Spencer and
Population Gini

b. True Law of ii. Michael
Population Thomas

Sadler

c. Sociological iii. Edwin
Theories Cannan

d. Optimum iv. Thomas
Population Doubleday
Theory

Codes :

a b C d
(A i iv i iii
B) ii iv il i
© i il iv il
D i iv i il

‘Development is the best
contraception’ was stated at the World
Population Conference held at :

(A) Mexico, 1984

(B) Bucharest, 1974

(C) Cairo, 1994

(D) Belgrade, 1965

J-15-14



31.

32.

33.

34.

35.

I TR IaHE SHiae Fion § forar mar
TH W, Hioud HiEre H UlaeaT o
e FEfafEd ¥ & '@ 3T UEH
FAT & 2

(A) SRR,
(B) ATEH3IAR
(C) TA.ARIAR.

(D) UG H W HIE Tl

AT &7 | ST TR T o 2
(A) Treare (B) TR
(C) T D) =

TR & & SR, fommaeter sen |
IF X H I A1 RTee @ T <@ ot &
W & Hefated 9 § 9 feaw
RTa & SRT ¥ of 2

(A) T g i

(B) HE

(®) %W WSTEl q9T YT Tt

(D) TA-aE I & I

2001 = SHUFT Yad TR fFe=taiad 5
T HF G G SUAH Tel HA § ?
(A) et e W @ & may
(B) S &I

(C) et e &1 ==

(D) UGS T HROT

2001 T STRTUFET & SER, et fHerg
ATHIT AT TTTT & T

T e & dF T~ B E 0

(A) FUI, fer 31 e

(B) FUI., ToTEAM 3R T U

(C) TR, Te weer 31X e

(D) FUr, R 31T Tererm
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S o HEE 1. wWE g N
SHEET & g i1, HIZehol ATHT
GRE gL
. WS Egia il TSted s
IO SHEET iv. 9TA9 SIS
B3 EAR
e

a b C d
(A) i v i i
B) i v i i
© i il iv il
D) i iv i i

foerrg garaw RS ©, 98 69

I W A foave Sag=n a9 e

T 8T T T 2

(A) BfsTsi, 1984 (B) TE@RE, 1974
(C) F, 1994 (D) TS, 1965
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39.

40.

41.

42,

According to Human Development
Report (2007-08), how many people
were affected annually, during 2000
to 2004, by climate disasters ?

(A) 100 million

(B) 250 million

(C) 262 million

(D) 300 million

According to Human Development
Report (2007-08) climate change
could leave how many additional
people facing acute malnutrition by
the 2080s, through its impact on
agriculture and food security ?

(A) 400 million

(B) 500 million

(C) 600 million

(D) 700 million

Assertion (A) : The dependency rate
of women is higher than that of
men in India.

Reason (R) : A majority of women
are reported as non-workers in
the Indian Census.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Match List — I with List — II.

List -1 List — 11
(State) (Dependency
Ratio)
a. Bihar 1. 95
b. Kerala i. 58
c. Tamil Nadu iii. 56

d.. Uttar Pradesh iv. 92
Codes :

a b C d
(A i i iv
B) i i i iv
© iv i i i
D) il iv i ii

Paper-111
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43.

44.

45.

46.

IV' CAREERINDIA

Assertion (A) : Human settlements
are a reflection of man’s
capacity to conquer physical
landscape.

Reason (R) : The physical landscape

is endowed with several
variations.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C©) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : Mega-cities of India
are growing in population size
at an alarming rate.

Reason (R) : There is a constant
migration to large-sized cities
from the rural areas.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(©) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Which one of the following is not

used to determine the quality of

Housing Stock in Census ?

(A) Type of Building material used
for floor, walls and roof

(B) Source of Drinking water

(C) Type of latrine facility

(D) Use of the Census House

India’s rank in terms of Human
Development Index (HDI) in 2011,
as per UN Human Development
Report, 2011, was :

(A) 136 B) 134

© 119 (D) 135
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39.

40.

41.

42.

oHa faea faie (2007-08) & SFER,
2000 & 2004 T & IR STeTag STTIRT
FRT fehc= @ a1 &9 § Teifad gu 2

(A) 100 e (B) 250 fafermm
(C) 262 e (D) 300 fafea=

e fasra A (2007-08) & AR
A URET % hoTeE®d B e
Qe YT W I9E §RT T SAfaRa
AT S 2080 T Ao FHTOT HT AT
AT T8 Gehell & 2
(A) 400 Mo
(C) 600 Mo

(B) 500 fafera=
(D) 700 faferaa

ANHAT (A) : 9RA H T DI TURT
HECAT3 ol ORI ST I ¢ |

HRUT (R) : YRAD ST H 3TTeehier
ot =l TR adqrEr TR

HE

(A) (A) 3R (R) 341 I € 3R (R),
(A) T W& AT E |

(B) (A) ¥R (R) 31 ¥ € W
(R), (A) I &t == & € |

(C) (A) TEE, W< (R) AT |

(D) (A) FEAE, W (R) TIE |

T — [t g — [T % 91 GAHferd &Y
e -1 = - 10
(TT=) (TRTSRIET ST
foer i. 95

FHA ii. 58

qmeg - iii. 56

SWURY v, 92

FE

/e o o

(A) i i i v
B) i i i v
©) iv i i i
(D) i v i i
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43.

44.

45.

46.
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At (A) ;. WFd ST ifae
JITFA W oo/ a= H AFE
&TECT T Ui € |

HROT (R) : HifdH JTHT & 5ga & T
qTEAE |

HIS

(A) (A) &R (R) SHI 9 & 3R (R),
(A) & TE A E |

(B) (A) 3R (R) I &4 § W
(R), (A) I T&t AT T € |

(C©) (A) TF &, W (R) 3TAE |

(D) (A) A, g (R) TIE |

AfweE (A) . 9RA F TEETRI B
SETEAT % TR | 3TN 8
YT B @ E |

HROT (R) : T &5 F 9 PR &
TR T W@ G- W Y9 & @l
g

B!

(A)

(A) 3 (R) 3T T € 3T (R),

(A) o TE AT E |

(B) (A) 3R (R) I T & W
(R), (A) &I T&t == Fal & |

(C) (A)TEE, W (R) 3T E |

(D) (A) I T, W (R) TI ¥ |

SETOAT B SIS Wi i T[T

R s & foiw fferfaa & 9 e

AT T fehar ST & 2

(A) W9, AR AR BT & AT YA
T ST STt 70T el T Wb

(B) T STeT I AT

(C) iraTer gferem & w9

(D) STFIUMET & 1 3TFAT

TgFT g A g RO 2011 &

SMER 2011 ® AFE fowe g

(HDI) % T § R {ohe T T2 4T 2

(A) 136 (B) 134

(©) 119 (D) 135
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47.

48.

49.

50.

S1.

Assertion (A) : Natural Disasters
create ecological imbalances in
the Human ecological
organisations.

Reason (R) : The structure of human
eco-system is the function of
technological inputs into the
system.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is mnot the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Which one of the following does not

constitute the definition of a slum ?

(A) A unit of settlement

(B) Basic facilities of Water &
Electricity

(C) Infrastructure

(D) People living in them

According to Fisher et al, 1991,

which is not the process of operations

research ?

(A) Problem definition

(B) Solution generation and testing

(C) Evaluation of solution and
dissemination

(D) Removing inefficient
corrupt managers.

and

In his ‘Essay on Population’, which

assumption is not made by Malthus ?

(A) Human beings have great
potential to produce children.

(B) In agriculture ‘Law  of
Diminishing Return’ operates.

(C) Passion between sexes is
necessary and unavoidable.

(D) Birth control is most essential
for all the sections of society.

As per Kingsley and Judith Blake,

which is not classified as factors

influencing fertility ?

(A) Intermediate factors affecting
fertility

(B) Factors governing exposure to
inter-course within Union

(C) Factors affecting exposure to
conception

(D) Factors affecting reproductive
morbidity

Paper-111
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54.
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Under approaches to evaluation of

Family Planning Programme, which

is not the ‘Intermediate Impact

Objective’ ?

(A) Desired reduction in birth rate

(B) Attaining a desired level of
contraceptive practices.

(C) Attitude of the people towards
accepting a small family size

norm

(D) Desired level of knowledge
about various contraceptive
methods.

What is not an ‘Nosocomal Infection’ ?

(A) An infection occurring in a
patient in a hospital in whom
the infection was not present at
the time of admission.

(B) Infection acquired in the
hospital but appearing after
discharge.

(C) Infection usually found among
hospital staff.

(D) Infection among animals
acquired through virus.
A quick way to calculate

approximately doubling time for a
country’s population is :
50

(A) Population growth rate (%)

70
(B) Population growth rate (%)
100
© Population growth rate (%)
200
(D) Population growth rate (%)
Assertion  (A) Inspite  of
implementation of NRHM,
India is unable to reach the
‘Millennium Development
Goals’.

Reason (R) : There is no effective
monitoring of activities in
NRHM.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(©) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.
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47.

48.

49.

50.

S1.

AFA (A) : UHAH UG TS
nRiEfaeE Te § aiRiEiaesE
ST SeqT YT € |

HROUT (R) : T TIRAATGRE e

(FTYH) |

FE ' .

(A) (A) &R (R) 3H1 FF & 3R (R),
(A) T W& AT E |

(B) (A) 3R (R) A &F &, WA
(R), (A) =i T&t == Fal & |

(C) (A) T & W (R) 3TAT |

(D) (A) A E, R (R) TIT |

T TSl (e S W AR
TEled w4 H AfiEg ®§ 8@ s
FHTS T8 e & 2

(A) = B 3HE .
(B) Tt et forstett ot erga germd
(C)  gFar g

(D) 3TH W@ | A

R w8 3=, 1991 & IR,
TS REe  wfshar S & el § 2
(A) T R

(B) THTEM =i T GLieTor

(C) THEM 3R TER T JodishT
(D) 3THTCT T WL Ye-eish i &1

qoug 3 U TR A digervE |

I H T B e S € 2

(A) HFEl | S B S 3 B Feq.
e Bt ¢ |

(B) P A ‘GEHEM UdwA @ FaH

FATE |

(C) Tt & &g wenfdies 3Tevas
3T e & |

(D) AN & @ 9t % few datq
iy waifuss g & |

et qar S =% % ITER g

FHRE B USHA T HI T A

AT I H SIS el 1T T & 2

(A) USHE &THaT I Wefed WA ATl
TS PR

(B) Wi & IR WG STeH aret

HH

(C) TERT ol TeTfed e el SR

(D) USHA T Sl FHTEd S arel
HEH
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54.

SS.

IV' CAREERINDIA

IRER FEH HEHT & Godic SUTTH &
ST, “HeAad W9 29 < 1 Tl & 2
(A) S H gifod T

(B) TR wemet & difsd WY T

LT
(C) BT UREAR AHR & UqHE
TR HH & Ufd AT 1 @an
(D) fafr= e ugfaat & a) o

T T i T

97 5 9§ i bt HehHOT T T & 2

(A) A H IO B GHAOT BT
59 vow & THT GHHOT T o7 |

(B) TATeT § TehHUT S 35 W] STt
AT T Tt & IS TS BT & |

(C) AR W 3WTATA & W% | rar
ST ST WehHIT

(D) UFI3 H WhHUT S TR & FRT
o frar T €

I B TGS F BASGT AT e H
o g =t aReToET SR T g ORI &
50
SHEE gg X (%)
70
(B) I ghg 3 (%)
100
© Fw=m g = @)
200
S Jhg 3 (%)

A)

D)

afvre (A) ;. TIIRTEUH. 6
FRaad XA % deSE, WRA
Hearfss foasma et &t 7@ ur
< 9T |

HIOT (R) : T.3RTI.TY, &t Mararaar
H BT THES FERET TR
A E |

FE

(A) (A) 3R (R) 5H1 T € &R (R),
(A) & TE AT E |

(B) (A) &R (R) A ¥ & W
(R), (A) I T& AT T € |

(C) (A)TEE, W (R) ITAE |

(D) (A) 3T, g (R) TI & |
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56.

57.

58.

Which of the following is true ?

(A) Estimated number of
contraceptive users through
surveys are more compared to
estimates obtained from service

statistics.
(B) Estimated number of
contraceptive users through

surveys are less compared to
estimates obtained from service

statistics.
(C) Estimates of number of
contraceptive  users  from

survey and service statistics are
ideally same.

(D) Nothing could be said with
certainty as estimates depend
upon various demographic
factors.

Given below are two statements. One

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) Punjab has the
highest percentage of persons
with drug addiction.

Reason (R) : It has become fashion
among youths to use drugs.

In the context of the two statements,

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

What is ‘Quasi Experimental Design’

in Population and Health Surveys ?

(A) Study subjects are randomly
allocated to experimental and
control units.

(B) Experimental and control units
are randomly selected and
randomization of study subjects
are performed within
experimental and control units.

(C) Two similar but independent
experimental units are purposely
selected for experimentation.

(D) Experimental and control units
are randomly selected and then
study subjects are purposely
included for experimentation.

Paper-111
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60.

61.

62.
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Match the following :

List -1 List - 11

a. Without social i. Bongaard
change, population
problem can not be
solved.

b. There is no point in ii. Maurice
spending money on King
malnourished
children.

c. Proximate iii. Lotka
determinant of
fertility

d. Stable population iv. Kingsley
model Davis

Codes :

a b c d

(A) iv il i il

(B) i i T\

((O) iv i il
D) i i i v
What are the effectiveness of various
contraceptive methods under Family
Planning Programme ? Match the

following :

a. Sterilization i. 90%
b. Oral Pills ii. 50%
c. Condom iii. 100%
d. TUD iv. 95%
Codes :

a b C d
(A) il i iv il
(B) iv iii i ii

(C) i i i iv
D) i i i iv
In a population survey, while

selecting households from a village,
it is not possible to get list of
households. Which random sampling
technique can be followed ?

(A) Simple Random Sampling

(B) Purposive Sampling

(C) Stratified Random Sampling
(D) Systematic Random Sampling

Which is correct statement given

below ?

(A) Crude death rate is independent
of age-specific death rate of
population under study.

(B) Crude death rate is independent
of age-distribution of
population under study.

(C) Crude death rate is function of
both the age specific death rate
and the age distribution of
population under study.

(D) Crude death rate excludes
infant death rate in the
population under study.
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56.

57.

58.

frffea 4 @ P T aa T 2

(A) OOl ¥ U TR
SUFFATST T e
TRl § U ST § ST ¢ |
T ¥ U MR
SUATHITS T STHIAT ST Far
Hifereh! | T SHE 9 HH € |
T T HaT Wit § U
RIS SRS N SFHI
T T T |

Fo ot Feeggds @ Fer S
THAT T e S ot

STHIfheHT SHIehl I (T & & |

T 53 T3 37 ATl H Us AR (A)

¥ AR gET HRT (R) ¥ |

AfWFT (A) ; U Wid § ARTERT |/
Tt it =51 T T ¥ |

HROT (R) : JATE | TIRERT T T=ei=
AT ST @I |

AP FHI T T e @@ &2

FE

(A) (A) 3 (R) T4 Tl € 3 (A)
1 (R) Tl T ¢ |

(B) (A) 3R (R) S Tl €, R (A)

T TEl T (R) TR € |

(A) T& E, g (R) T ¢ |

(A) T &, g (R) T ¢ |

(B)

©)

(D)

©)
D)

SEE qOr W goeen "
‘3T U feste e 2
(A) TSI THE HT WIS qe
=1 sohTEal § Aged ' °
a2 fopar ST & |
U dqen a=or geEa &
mwﬁwﬁmw%
SeEH Rl W
ag%ﬁwu@ﬁmwﬁaw
THIET & &Y (R AT |
TR #H & AU I Uk gHE
W] A AR ghrear
SRYARE T A& |
YT der a=or geEa &
Y § TI A S
3T TR 3o TRl & WA &g
@ng%wwrfatafaﬁm
ST e |

(B)

©)

(D)
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62.
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fr=ferfaa st gafera it
= - 11
EIUIcy

a b C d
(A iv i i iii
(B) i i ioiv
©) i iv il il
D i ii i iv

IER fEem FEwH & 3y fafi=
TR Sl THTERICAT ol THAT Y

a. TEdRTT i 90%
b. @M i TifeEr ii. 50%
c. helm iii. 100%
d. S iv. 95%
S

a b C d
(A) i i iv il
B) v ii i 1l
C) i i i iv
D) i i i v
ST % FIIT H, T § URari S =9
Bl & | B 9 A HiduaT qes
T o foman ST b & 2
(A) T Qe Hidead
(B) SRYIYTSH Uid=a
(C) Ra Agrs Aldea
(D) At Agres® Aaaa

T R T FAi H q HT AT ?

(A) oWINT g ST, STEHIA U@
=l 3M-faTe g WA W= € |
TN g T, 3T SHeE

(B)
©)

(D) '
3 o] g B AR FAE |
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63. Which is not true about estimation of
fertility by ‘own-children’ method ?

(A)

(B)

©)

(D)

64.

Why

Useful for less developed
countries where vital
registration is often seriously
deficient.

Estimates of fertility can be
tabulated by recorded
characteristics of mothers in
Census/household surveys.

The age-pattern of fertility can
be severely distorted by age
misreporting.

The own children method can

also yield birth interval
statistics.
India’s Family Planning

Programme is criticised with respect
to gender’s perspectives ?

(A)
(B)
©)
(D)

Over reliance on female’s
sterilization

Targeted approach with poor
concern for quality

Lack of facilities and
supply of contraceptives
Limited choice of methods for

couples

short

65. Match List — I with List — II :
List -1 List - II

a. Ifthereis i. Peterson’s
technical theory of
advancement migration
along with growth
of population, then
per capita income

will increase.

People are free to ii.

migrate in the
way they like
Increasing
population alone
could bring
rapidity in
economic
development
Migrations are
always selective
and is much linked

with the place of

origin and that of

destination
Codes :

a b c

(A) il iv o id
B) i i v
(C) i il v
(D) i i iv

Paper-111

1il.

iv.

Lee’s theory
of migration

Theory of
low level of
Equilibrium

August
Losch
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66. Match List — I with List — IT ;

67.

a.

List -1
A constant
schedule of
fertility and
mortality
resulting in an
unchanging
proportional age
distribution
A population with

a fixed age and
state composition
that emerges from
a long history of
constant age and
state specific rates
of birth, death-and
inter state
migration.

Age structure of a
population will not
be greatly altered
as long as fertility
stays constant even

if mortality is
changing over time.
Describes
variations among
population, or
overtime, without
specifying the

form of pattern of
mortality by age.

Codes :

a b C
(A) iv il i
B) i il i
©) i i i
D) i i il

i

il.

1il.

1v.

d
ii
v
v
v

List — 11
Quasy-
Stable
Population
theory

Logit
mortality
relational
model

Multi-
state
stable
population
theory

Stable
population
theory

Which is not the condition under
Rashtriya Swasthya Bima Yojana ?
It covers only 5 members of

(A)

(B)
©
D)

family.

It covers only BPL population.
It covers only OPD services.
It covers only IPD services.
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63.

64.

65.

‘T foegT (IR §=d) USRI
ST &THdT & 3Tehe & 9R) § 341 q
TIE?

(A) w0 fosiad e % fou swr &
STET S9-gog USTeuT W T
Y ZAE |

TS &THaT & ST
IRER |l H HTEreT Wl
frpige fovmanst g7 difciees
fhT ST T € |

TS &9 1 3T T U 3Tg
T TTeId Gt § At o &
HHaT & |

qiferen Wi UeH T Gl & |

R & URER IS Iash it STt o

& T | o] AT b STl & 2

(A) Tl % TR0 G AT e

(B) TUERT & ol %W WIHR & I
AT IUNTH

(C) MR & FH M T
gaemat s o

(D) swigal & feu umiaar w1 g
forere

(B)

©)

D)

frfefaa =t gafera Hifsw
e -1

a. A SIS W Ihg F i
[T qhIh
gl €, uiq oAt
3 | gleg FTT |

b. @M AT TEHT H i
Yag WA & oAU
AT |

c. TYHM SHEEAT Thot iii.
e faerg & digar = =)
o Gl & | =1 fagia

d. TEET EHIT T iv. ST WS
B & 3 gl T =
T ®H % 9
TErEA B ¢ |

S

it - 11
TIeTET 1
TEET &l

EFAR]

g1k
UIHT ol
fagia
T &

a b C d
(A 1 iv il i
(B) i vl
© i 1 iv i
D) iii i iv i
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66. TG i G It -

T -1 = - 11

a. SURAfd SN i ITE-
g famour ¥ wod — wmE
TS O g A S
T ST | fagra

b. R g 9 579 9 ii. @ite
% T fafre oA gg
3T TS YaEH F g
T AR H I WH
e fer smg dw  Hed
TTHE Faed & qd
SHGEAT |

c. SHUET W MY TEA iii. G-I
g T 9 A @ fer
S T TS A R S
T o§ oA g | fEEd
TR T&A T & |

d. SMYEN g WH U iv. &R
HF e FT wR SEEen
SHEET H uRedd @ fagE
UM uReed @
O |

e

a b c d
(A) iv i i ii
B) i i i v
<O i i iv
D i i i v

67. LT WA M1 AN & iad =
T i G I AN el gt & 2
(A) TSHN Hael URER & T G
W E AN Bl ¢ |
g AT had Tl w 3@ |
I e AT FA Gl aRaRT
W AT BN |
Tg AT aeT AT ToATST Gferenaii
U AT Bl ¢ |
g AT ST TorST gferenatt
T AT Bl ¢ |

(B)

©
D)

Paper-I11



68.

69.

70.

Given below are two statements. One
labelled as Assertion (A) and the
other is labelled as Reason (R).
Select the right answer :

Assertion (A) : Fertility has not
declined to desired level in
some of the states in India.

Reason (R) : Age at marriage is still
low in these states.

Codes :

(A) Both (A) and (R) are correct,
but (R) is not only explanation
of (A)

(B) Both (A) and (R) are correct
and (R) is explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Given below are two statements. One
labelled as Assertion (A) and the
other is labelled as Reason (R).
Select the right answer :

Assertion (A) : Family Planning
acceptance in rural areas is
lower than urban areas.

Reason (R) : Attitude of rural people
towards family planning is not
favourable.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the only
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Open birth intervals are likely :

(A) To be longer than closed birth
interval

(B) To be shorter than closed birth
interval.

(C) To be about the same length on
closed birth interval.

(D) Itis not possible to compare.
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What is full form of NHSRC ?

(A) National  Health  Systems
Research Centre
(B) National  Health  Systems

Resources Centre.

(C) National Household Survey
Resource Centre

(D) National Health and Sanitation
Research Centre

A traditional CBD of a city is the hub
of

(A) Industrial Activity

(B) Retail Trade

(C) Wholesale Trade

(D) Residential Enclaves

The emotional violence among ever-

married women in the National

Family Health Survey (NFHS) III

was measured using which among

the following questions ?

Does/did your (last) husband ever :

(A) Say or do something to
humiliate you in front of others ?

(B) Threaten to hurt or harm you or
someone close to you ?

(C) Insult you or make you feel bad
about yourself ?

(D) All of above

The difference between a generation

life table and a period life table is

that

(A) The radix is different

(B) One refers to a true birth cohort
and the other does not

(C) One uses a different method for
calculating g, than other

(D) None of above

Out of pocket expenditure was
proposed in the area of

(A) Education (B) Health
(C) Food (D) Clothes
J-15-14



68. = T Y & AR H U AR (A) 3R

69.

70.

TG HROT (R) & | TRl ST T < B

afime (A) G T T A
TS Y U % S H A
T |

HRUT (R) : 3 70§ oo & 99
I T FAY |

wT

(A) (A) 3R (R) I T & T (A)
1 (R) 7 U & T T ¢ |

(B) (A) 3R (R) 31 W&l § 3i¥ (A)
F (R) TR T |

(©) (A) Fel & W= (R) Terd & |

(D) (A) Ted & R (R) W& |

= fe T e W U TR (A)

SR IR B (R) ¥ | W I A

o

atfiemed (A) : T IR Bt e
TTHIOT & S & i qer °
FAE |

HRUT (R) : IRaR FasE & faug o
i T A o @ s
3FH el ¢ |

A

(A) (A) 3 (R) 31 T € 3 (A)
T FE TR (R) € |

(B) (A) 3R (R) T Tl &, T (A)
T T Teh & W (R) &1 & |

(C) (A) Wl g, W (R) Tl € |

(D) (A) Terd & R (R) Wl & |

forgd (GelT) ST STaTet Svad:

(A) % ST HRTA T TSTEIAT & |

(B) % S RTeT A ST T |

(C) o% ST R & T 8T & |

(D) & T8 Gl ST SO H o
AT HIT T E |

J-15-14

19

71.

72.

73.

74.

75.

Iv. CAREERINDIA

T, U9, TH. AR, & O &9 H_1 8 2

(A) v go faey e 9%

(B) ¥ o faew g |9

(C) ¥ eHelcs ¥a KA ¥eX
(D) YA 504 TUE TeeH REd HeX

TR 1 IR A&, FEtaiad &
% Bl &

(A) 3rnfTes Tidtaty

(B) T MR

(C) oI =R

(D) emrdiT 3.8

e ! g0 W (LU TE.E,) 11

o @ o fmfen) et %

T TaTcHs &9 1 /Y FEfaried 9 9

ToF T T ST SURINT Sheh (oAl TI4T T 2

T 3aes (foret) dfer = e ot

(A) 3R TERI % W e @ &
fore s et = fopa 2

(B) 3UH A IMUH [HAT ==
gt B elfq a1 JHAE ugEe
! g a1 & 2

(C) AU SgooTl o1 a7 3T S0
IR H /T HeGH HET ?

(D) ST |t

HHadIE! Sier difeiehl Tel whifeteh STiad

ATfeTeh § R 3= & 2

(A) &I 7T ST W |

(B) TS o(oeh ST HEE (VE)
AT T T T |

(C) = q, IO % ford STeTT- ST
Tgia T A € |

(D) SwgH | ¥ HFE T

‘IS 3 Uiehe” =F 1 WA [T
& T @ AT o 9
(A) Temem
(C) ivH

(B) @@=
(D) e

Paper-III



IV' CAREERINDIA

Space For Rough Work

Paper-I1I 20 J-15-14



